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Model Question Paper-1

amﬁzarmﬁ nedngs / Instructions to students :

1

. TP, TEF IITW TONL QONCTW ITB ZPIODYIWIT.

2. BBz Woegohd T, WF 100 ©OITT WHK: B0, BRTWORYTIT.

3. 100 ©038z3 100 JFRPR L0ZOR0 120 AT AONTFRB I

4 = B A, B, C, D oo 4 soiok evSonds), AeBUoNTEE. a@neg KOosRT evgog
WO q,gdab‘l TNF, L0.20.80°30 DD URTR IF), WRUT TeoWOoL® aa.‘aom e wp@w)c. Each

question has 4 options, namely A, B, C, D. Out of these shade only one circle as answer in the
OMR with blue or black ball point pen only.

5. 2.20.80°3Q FORE DFONT DWeTOON, WememuRneN 8 §950mod JeRd. Example is
given to shade the correct method in OMR.

X0 s Correct Method 3, I Wrong Method
=, T0. . Q.No.  encIT/Answer X,XO. / Q.No. 0BT/ Auswer
! @O L OROD

- PE®O® 2 @EeEPO

3 @O®OO 3 OBOD

4. @OO® 4 QOCOD®

6. .0 TER LOTYOT Fed) YORNY, Jew* memTee. Must not shade more than one option
for one question.
7. w.20.8TFQ oRFTe 233, NN, DNBFROT: Terp FYODWOE, TFWITOZ  Tong
=& Do not erase or rub in the OMR and do not fold or tear the OMR.

8. %.00.80°3Y AOWORAT TRWLINYW), ILTC HEFJPEZT. Fill up the OMR with related
information without fail.
9. 3% YVITRVR ILFRIF WOINVHPYAY. $FO0T 2uy TY9RR wvda. There is No Negative
marks for incorrect answers. So attcmpt all thc qucstions.
10. 2R, ‘Weied $0e§-2020'0 0BT ULITT FTOT TRODY, TG,
&Qemsmn%im%:ﬁt‘&.keep copy of OMR answer sheet safely.

Page 1 of 14



10.

11.

12.

_:@hg:_

LB 20T 03T k;Uagd :

A) BE50 B) :3Y5  C) Depras D) cRITe @Y

e

. GRNFY 0IVFI DWPWI0L HOINLTIFTHI, BLRODT.

R) 33 B) o%, C) o3, D) 233,

. ‘Do0NT TTT WIVBWS TR :

A) FooBo0T:  B) Seohdns: C) oz D) o030

. DO BT, BRNGR. B T 0BG WG TEEEHT Y TIL :

A 0203 B) Wowane C€) BEes D) mZene

-0

. ARNY TR OIFFE WRTONG :

A) 2T B) 30 C) &o03 D) ZJeaeo

. WOTX B BZF, ToF, JOID TONYOT TROFAROTN WIRT SeLIUX,

A) ezF TR B) wodoese
(03] emz;pdra D) merer T
‘90" 83 TIRE ODOTFT TJWND :

A) 3, 89, &d B) 33, &0, 39

C) 29, 38, 50 D) ®e, 33, =00

. RS 1 W & DA ¢

A) THH B) @ero C) ot D) ooomb
. T, TB@ TP BHONT 8 DHZTY WRNS 9T JS:
A) rreddezd B) COS C) =TT D) z@FSose
‘T, 3poR” Q088
A) BopBT SBOBV B) 300 S0@E@men SRS

C) BoDH ToONE JIWONT AT D) cwmnce vy

:’Nagﬁ RN YTOT 0T B8T T8

A) 30T T[oed B) Jree. 3o8erP® Donwod
C) moen moank D) eredsg wodd
RCITE 3, ‘B0 TTYODW, TRTL AP IXRITT PO :

A) JT3EBP2I PO B) yrsmeo
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(03] PIHT* 5O D) S¢d8 omp

+ ‘O0mYT’ DT

3 B) o D) Snaxce ©g

. 23.23.23e53003 k’e@ﬁ 8gron), VBT ——

A) 208005 IO WTBNODY B) mooder qokons” 5odesd
C) WIS 3B TTEIY D) 20¢93 oz

e B B
. WBOZ 0w A0OIITW, wIT IETT;,

A) zﬁ:% & DV0S0N0T B) woonedd Fdel FBONOT

C) 38 & 030N D) dem00 & 5o@200000
. 3 Do, Be, R CRFEE BFoL Po JeESom: 3 GAROT:

A) Dad 3508 B) szwcdsdn 8503

09 gm@ 3303 D) =oso=00 3@03

. WREITE 03PRHTT 8303

A) 8T0TT 803 B) 3205 308

C) w33 2303 D) swons 2303

- e Qe Qe wie oY dJe ot Red . (8 TITY WIRWBTT ST UF)
A); -, B).-2 Ct-9 D.-.

- T DI DOSRR0B SOOD), BOD bR} BevTT.

A) ©03x ZONYY R BIBABOD

B) Sonve, xgmenasesond

C) 003z sonw ﬁesﬁdos’oog ©TOOXLTOOD o

D) 30nYY MIT &REWTTE:, JeD HRODLDTH

‘BT DI FTE TRAT9

A) “2d¢ sTwoTOR ARR, B0T JoT AR TedTOL” [0

B) 3 wowmen A, BeswITork

(03] wabé'\)ﬁ RREZRAT0Z oH A'b‘i?% éeeéagéoc;:

D) cdnassy emF amwds, sesddesom
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ENGLISH

Four alternatives are given for the of the following questions, choose the appropriate
answer.
21. Write the opposite of FINISH
A) End B) Start C) Close D) Middle
. Write the Past Tense form of Eat
A) Eaten B) Eats C) Ate D) Eated
. Write the plural form of TOOTH
A) Tooths B) Teeth C) Tooth D) Teeths
. Find the rightly spelt word
A) Residential B) Resedential C) Residentiel D) Residencial
. Find a single word which means the following
“A child of your Aunt or Uncle”
A) Niece B) Nephew D) Brother D) Cousin
. Write the other gender of the word BROTHER
A) Sister B) Mother C) Aunt D) Daughter

. Select the correct meaningful sentence

A) Maharshi/Ramana/was/sage/a B) was/Ramana/sage/a/Maharshi

C) Ramana/Maharshi/was/a/sage D) a/was/Ramana/Maharshi/sage
. Write the meaning of Sage
A) Hermit B) Servant () Slave D) Devotee
. Koushikwasa
A) Soldier B) King C) Sage D) Minister
. Alittlegirtwanted __ read a book (fill the correct word)
A) two B) for C) too D) to
. Sheisa girl (write suitable adjective in the blank)
A) Beauty B) Beautiful D) Beautifully D) Beautify
. add suitable prefix for the word __touchable
A) Un B) In C) dis D) non
. add suitable suffix for thc word Hope to make negative

A) Hopeful B) Hopeless C) Hopefully D) Hoping
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Read the passage carefully and answer that follow
There lived a cute boy at Tiruchinapalli in Tamil Nadu. He was born on November 7,
1888. He was very cleaver and smart. He was goon in his studies. The boy started to
read books on science and nature in his childhood. His interest in Science grew day by

day. Physics became his favourite subject. With his hard work he became a famous

scientist and got the Nobel Prize in 1930. He was none other than Sir C V Raman. He

invented his theory on “LIGHT’, popularly known as “Raman Effect”. He died in
Banglore.
. There lived a cute boy. The underlined wordis
A) Adverb B) Adjective
C) Noun D) Pronoun
. Where was Sir C V Raman Born?
A) Tiruchanapalli B) Madras
C) Tiruvanantapuram D) Banglore
. The word invent in the paragraph means
A) Create something new B) Destroy something
C) to put an end D) Finish something
. Which was Raman'’s Favourite Subject?
A) Chemistry B) Biology
C) Mathematics D) Physics
. The silentletter in the word HONESTis_
A) N B)O CH D) E
. The Contracted (Short) form of do not is
A) don't B) do'nt C) dont’ D) d'ont
. Oh, What an Enchanting sound! This sentence expresses the feeling of

A) Fear B) Surprise C) Anger D) Sadness
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MATHEMATICS
XooSRT eS8 eo&é Epie)

41. 20 20 30 T IWF AT VR, FOLJNL
A) 21, 23 B) 23, 29 C) 23, 27 D) 29, 30

The Prime numbers between 20 and 40 are
A) 21,23 B) 23, 29 C) 23,27 D) 29, 30
. 3515 3y 24.85 ¢ B3

A) 59 B) 60.10 C) 60 D) 58.85

Sum of 35.15 and 24.85 is
A) 59 B) 60.10 C) 60 D) 58.85

. 29625 BQ 9 T WS B

A) 50T B) 3ad C) 003y mns D) 0008

The place value of 9in 29625 is
A) Thousand B) Hundred C) Nine Thousand D) Nine
. 5/1000 T ©TZ25008 TSRS

A) 0.05 B) 0.005 C) 0.0005 D) 0.500

Decimal form of 5/1000 is
A) 0.05 B) 0.005 C) 0.0005 D) 0.500

. 85463 98265
A)> B) < D) #
85463 98265
A) > B) < Q)= D) #
36. 90T ToLIY LS I
35413, 68396, 24315, 84675
A) 35413, 24315, 84675, 68396 B) 84675, 68396, 24315, 35413,
C) 84675, 68396, 35413, 24315 D) 24315, 35413, 68396, 84675,

Descending order of following number is
35413, 68396, 24315, 84675

A) 35413, 24315, 84675, 68396 B) 84675, 68396, 24315, 35413,

C) 84675, 68396, 35413, 24315 D) 24315, 35413, 68396, 84675
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. BRI 83T wep TYT ena HIT0dOR Y SR

> )

A) 12 B) 4/8 C) 8/4 D) 4/4 5 | l AA

The simplest fraction form of the shaded part in the given figure is
A)1/2 B)4/8 C)8/4 D) 4/4
48. 1564 ™) 24 3 UNLISNOIY nosy m@ﬁd RNCTY, HOTWATRN

A) 40,000 B) 35000 C) 45000 D) 50000

Estimated product of 1564 & 24 to its nearest highest place
A) 40000 B) 35000 C) 45000 D) 50000

49, 1378 aaeé,:ﬂ:@riﬁé?\iaql 3 RENCITTITIN [ODSE TN

A)13.78 8. Qe B) 1378 8. awe C) 0.1378 . e D) 1378 8. ooe

Conversion of 1378 meters to kilometre

C) 0.1378km D) 1.378km

A) 13.78km B) 1378km

50. £003508 IR IO oy 8 e, N 4 e, FMKT ©TT mgeéé

A) 12 &oe B) 4 &oe C) 32 e D) 24 e

Rectangular shape of the room of length 8m and breadth 4 m the perimeter of the room is

A} 12 metre B) 4 metre  C) 32 Metre D) 24 Metre

51. 25 <oe 15 Re. e D) 16 e 12 Bo.dwe ane Beg

A) 412002780, e B) 27 Qoe, 4130. <we C) 40a0e2180, eoe D) 42a0e2280a0¢

Sum of 25metre15cm and 16 metre 12 cm is

A)41m 27¢cm B) 27metred41cm C) 40 metre2lcm D) 42 metre 22 cm

52. Iw W@ Bk 37.50 /T, eTL Ok 23.508 0TONYS, 3RV OBY WP YWIIRT Bee

-
T

A)Sn. 14 B) cwn. 6.50 C) d». 60 D) 3. 7

Soumya has Rs.37.50 she spent Rs. 23.50 for purchased vegetables then remaining amount

is

B) Rs. 6.50 C) Rs. 60 D) Rs. 7

A)Rs. 14

53. 2.0 dde;: ao%ms' NRACIPTTY FDOL  18:28 Doz @Lra@xi:gzﬁ. facsriaw1 12: 00 ro&s

NBCIRTT FSoRTY [F JRATN

A)5:28 .05 B) 6:28 @. o057 C) 6:28 .05 D) 05: 28 & &

In a railway station clock the time shows in 18:28 it is expressed in 12 hours

A) 05:28 AM B) 06:28 AM C) 06:28 PM D) 05:28 PM
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. 4,8,0,2,5 & e—ao%m‘imd TOT: MNTOILENBT TBT[LLTNTOE 5 030N n’@% n’o:ﬁé
A) 20458 B} 25048 C) 85420 D) 02458

The greatest 5 digit number that can be formed by using 4, 8, 0, 2, 5 digits without
repetition is

A) 20458 B) 25048 C) 85420 D) 02458

. imgdm ejzie)éomg’ RPODWTOTOE I e @371%5 11093as

A)3 B) 5 Q)6 D)4
The number of axis of symmetry that can be drawn in the given figure is
A)3 B) 5 Qo6 D) 4
. 24 B oY OTTIFING 303
A) 60 B) 48 C) 24 D) 12
Sum of all factors of 24 is
A) 60 B) 48 C) 24 D) 12
12 /4 =345+ 30T BY W
A)13 B) 6 C) 16 D) 10
12/4-345*2 the value of the expression is
A) 13 B) 6 C) 16 D) 10
. 8 o3 30 QENTOOT 2 Moed 15 AR PN AT NIT
A)6 ot} 15 daves B) 57ioe3 15 D C) 6 Roes 18 D D) 4 ro&d 20 Q

When 2 hour 15 minute subtracted from 8 hour 30 minutes the answer is
A) 6 hour 15 min B) 5 hour 15 min C) 6 hour 18 min D) 4 hour 20 min
. 20T R oD Dero* BFe® wIA, 8 $.a0¢ TRT BTV, TomRT & T 85 ¢
(RO VYA AT BRT HT?
A) 680 8. ¢ B) 650 3. <oe C) 10.5 3. e D) 83. &oe¢
A car covers 8 km using 1 litre diesel. The distance that car covers by using 85 litre of diesel
A) 680 km B) 690km C) 10.5 km D) 8km
. W0t TrEFRRYY
24, 21, 18, 15, —
A) 14, B) 12

Complete the series 24, 21,18,15,
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A) 14 B) 12 C) 27 D) 25
SCIENCE

. QVATOE 30HONY Fdeen 03D LONTI), IRTEROB, 03T VAT, BRSVEZEI.

A) 20mR0T &) ¢ &7 DI SRR B) s338 S aomen &, ©8 &

() mends &8 50KIT D) mooxss 0% mowdd
In respiration process following gases are taken in and out respectively
A) Corbon dioxide and oxygen B) oxygen and Corbon dioxide
C) Hydrogen and Nitrogen D) Nitrogen and Hydrogen
. BATD QD L.0T
A) SR0TMTDT & B) 203w00 C) see3zod XX, D) 8 9%
Droserais a
A) Carnivorous Plant B) Omnivorous Plant
C) Insectivorous plant D) All of the above
+ TOSRRETTY JERERT TR0
A) 21% B) 78% C) 0.04% D) 0.96%
Quantity of Nitrogen in the atmosphere is
A) 21% B) 78% C) 0.04% D) 0.96%
- FOOAT TR, DROIVFTOOT uoLRnEs Bween
A) oo B) ©&cxmo C) =sTod D) agwe

Disease born from drinking polluted water is

A) Cholera B) Vomiting C) Dysentery D) all of the above
. e memm@wma LT YTRROST JeTOTO THE

A) @3 deoemd  B) Do3md devezmo €) o @I 0 D) zoend eco=o

Type of irrigation is adopted to prevent a loss of water is

A) Drip Irrigation B) Sprinkle Irrigation C) Both a&b D) Canal Irrigation
. AW WO %)Oc;asamﬁd

A) ooh B) Reed C) Jeormw D) svzsy

This is a type of Millet

A) Ragi B) Wheat C) Ground Nut D) Black Gram
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. w:;s TN FRTWOZ VTS RENRT :m;‘

A) 333 B) oecaaszoon C) oz D) eva)

Substance used to pressure pickles is
A) Sugar B) Chilly C) oil D) Salt
. OB SRTTOND Seew
A) TowTE B} 2edd C) oz D) m¢
Liquid metal is
A) Mercury B) Water C) Glass D) Air
. BT FeoDT LETBE TR
A) Soeso B) oz C) szned D) comp
Substance undergoes sublimation process
A) Wax B) Salit C) Camphor D) All
. TR0 ©03TVHOD T
A) &3 B) moss* C) N9 M D) 3s8nemoms®
S. 1 unit of Mass is
A) Tonn B) Gram C) Milligram D) Kilogram
. AT BRR BOTZINY [
A) 70 B) o5 C) 3hee D) womed
This is low density substance
A) Stone B) Oil C) Iron nail D) Gold
. AW 20T KOOI AL
A) 8% B) 33, €) 3dnens D) ezt
This is example of compound

A) Oxygen B) Gold C) Nitrogen D) Water

. BRTISY FORTPT A AT
A) QWE® T B) ooy T8 Q) aj)wwa‘ 38 D) @os 33
Water stored in Dam is

A) Electrical Energy B) Heat Energy C) Potential Energy D) Kinetic Energy
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- W8 FoFeEBoNY AW uTHOdReNT B

A) w9 B) Z°0z3 C) o=z 38

Energy used by green plants in photosynthesis is

A) Wind energy B) Solar Energy C) Electrical Energy
. R0 PBTITRY, deRABIT

A) Rrecnss B) axw500 C) 80303050

The shape of earth is

A) Circular B) Geoid C) Rectangular
. BINT D 20T FIDORS 1B

A) 205 B) 23 C) e

The planet that called as morning star is

A) Mercury B) Venus C) Jupiter
; ﬁzg@odaeg m@sd O%s gonEm), $medumen mwoimﬁfna'_oad

A) o6 B) %003 C) 28ed

Part used as food in carrot is

A) Leaf B) Storm C) Root

. OTTTOONODY AT THOS VRS0

A) BT oF B) Spg3es C) Soesmy

The nutrient present in beans is
A} Carbohydrates B) Protein C) Lipid
- 0% BORT TIBAKL 88 Ieens CFomonds
A) o83, B) o8 om C) 5oF
Bleeding gums is symptoms of following disease
A) Rickets B) Night blindness  C) Scurvy
+ SQCFOBRNT BOTJRL AN
A) J8pee*  B) #0338 C) o9 3

The non renewable resource is

D) wogg 38

D) Heat Energy

D) 305050

D) Square

D) sony

D) Mars

D) Brw

D) Flower

D) Ren3
P

D) Vitamin

D) ¢0 3co

D) Beri Beri

D) zo38

A) Petrol B) Solar Energy C) Wind Energy D) Hydro Energy
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SOCIAL STUDY

®|

. O3 BowRsng —_ %033y B, RPEWRIS.

A) 0BE BORZT B) wed wdmmcd
C) dgesmen BORmP D) Som3nemy, YR
Which of the following indicate this symbol? ®\

A) Left turn B) right turn C) move slow D) Parking

. d§ OTTFOBNTITIN THF WIZNen ssz':a oauécs'g ____,rjosﬁé QLS WOWTT PBID
V283 asdzsﬁ@ AT,
A) 101 B) 100 C) 108 D) 102

help line number provides free emergency medical service and free ambulance for

road accident
A) 101 B) 100 C) 108 D) 102

» DBDTTRY, FOWLHWHE

A) SR B) 3¢ s@remos: €)oo BeF D) woers eelens
Who Invented the Aeroplane?

A) Marconi B) Wright brothers C) Graham Bell D) Charles Babbage
. O3 TRHOLT, THRAD IR DOT FBOIWIT.

A) monde B) ©® C) 33 D) 2083

Which animal is called as the Ship of the Desert?

A) Kangaroo B) Rat C) Horse D) Camel

. SOMYRRRY WIT JEFR —— OR3T

A) To8s B) =43 C) 33 D} =00

The magazine published once a month is

A) Fortnight B) Monthly C) Daily D) Weekly

. OuEdE TAF Qe oemg’_

A) 5003 B) &40 C) mn D) ©eds

The Statue of Liberty Located in

A) India B) China C) Japan D) United state of America

. 3OS TG /I FY

A) DTG B) 2w C) o D) mseE

The stone chariot isin

A) Hampi B) Badami  C) Hampi D) Halebidu
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88. Iy WY PORTN FGFT — Srexd 0K ITUNT.

A) BSF 330 o3RI B) dare sy odeewd
C) o303 dwewd D) senes ¢ odeed
The Scheme launched by Karnataka government to promote the birth of girl children and to
raise the status of girl child is
A) Sarva Shikshan Abhiyana B) Nirmal Gram Yojana
C) Ashraya Yojana D) Bhagyalaxmi Scheme
. HRen XOTI S BY
A) 38me B) xS C) o331 D) coodednde
Jog Falls is situated in which district
A) Belagavi B) Hasan C) Shimogha D) Raichur
- OF, o0ndg W MEME THINGY DOABT PEVOWNY MOT), —— FETHOL
DO FToLZB.

A) mogoese B) en@sey, C) Ing D) @e3ee
A group of families or community living together in hill and forest is popularly called as
A) Rural B) Tribe C) Urban D) Municipals

. BPOY ATTF, 0T HOT BRTY ENT30D Tk
A) w800zTRe” B) somo oy C) 300 S3ed D) ®aeze L
The first Indian woman to climb Mount Everest is

A) Bachendripal B) Kalpana Chawla  C) Kiran Bedi D) Sunita Williams
. BROVFIOT BRTHF dode

A) dmE BY B) zo353 C) wred 33 D) &5 38

The energy obtained from sun is

A) Electric energy B) Hydro energy C) atomic energy D) Solar Energy
- ARNIE TRPT TDEFORVTRIRE FOTILE

A) det B) 395 en C) Sedpeer D) &z

Which of the following is renewable resource?

A) Water B) Coal C) Petrol D) Diesel
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. PR BeIT TNl F[E
A) =T B) 3o WIRTI C) nedrodd D) g
The Major occupation of India is

A) Trade B) Oil production C) Mining D) Agriculture
. TTOWS W3t 23TT SDT

A)3 2 B) % @oa C) S0goDdINO D) SPow 2333,

The highest peak (Mountain) in the world is

A) K2 B) Annaimudi C) Mullayanagiri D) Mount Everest
- BIVFWTT TP Q0T INTBR, T3N3

A) Sonsec B) @ C) ISDoRLRD D) 33

city is known as the gate way of karnataka

A) Bangalore B) Udapi C) Mangalore D) Karawar
. tRUZTY e T, WY VLT T[T

A) arvhoed B) 502¢3 C) S5oa3Ts* D) Svmon

Highest Rain fall in India is

A) Agumbe B) Kashmir C) Mawsinram D) Belagavi

. TWOWT w3 TeB DO

A) @ieeom B) et C) T30 wSedso D) %803

Largest continent in the world is

A) Australia B) Africa C) South America D) Asia
. PO0T [eSFEY m%@d

A) o8 S B) wemo C) Sezs D) soompdes

country located to the East of India

A) Pakistan B) China C) Nepal D) Bangladesh
. TOL WB) TOIRTD TR cauari’@rﬁ TGN,

A) 3z B) Sonsed: C) mopznd D) @olns
is the capital for both Punjab and Hariyana state.

A) Delhi B) Bengalore C) Gandi Nagar D) Chandigad
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